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1. (10%) ..,jtt,..iFr-<- (limit) : 

lim (~ r ( cos t)2020 dt) . 
x->O X Jo 

I 
j(x) = X' , X > 0. 

(A) (5%) ..,jt-Ft~i?Eitl j'(x). 

(B) (5%) "tt>Rtl:1 f(x) {/.Jjfi}-._{i (absolute maximum) 0 

3. (10%) ~ n1 ~db .~ y = ~ ~ x-.ti1i,t±. [l, 5] Mr& M r1r !fl ~z.iJ'-urJl&~; n2 ~ 
dh4 y =ex~ x-.tib-{f_ [0,b] Mr&MFJrlfl~z.iJ'-iliif&~ 0 t;,\..,jt_iEtl b HdJf 
n1 ~ n2 ;/f ffl ~ oo ~ 0 

4. (10%) 1R~ J ,(f_ [0,3] Mr&M~-~#.li?EitlJi,t±. (0,3) r,icir&M~offM.1}; 
iEJiE.~o J ,(f_ [1,2] Mr&M;/fifiA111, iil+ii -1 ° ~i?Eitt F: [0,3] ~ R 
~l:koT: 

F(x) = lx [f2{t) + l] dt, X E [0, 3]. 

(A) (5%) t;.\t>lBA i?Eitl F ;/f &.i?Eitl p-1 0 

(B) (5%) tt ✓"Rtl:1 (F-1
)' ,t£ [F(l),F(2)] Mr&MP-JziiiA~iii+ii 0 

5. (10%) *~ ~~71" : J sin(ln x) dx. 
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6. (10%) 1Fl"t~ K > 0 ~-'$'it, >f<.Tf1HJJ~1tro,~ (initial-value problem) WJ 
~: 

{ 

dy - = Ky(M-y) 
dt 
y(0) = 1. 

8. (15%) 1r.H~-1@¾~ttJt.td@ooWJ¾oottJ~:f0~00;t'$"tl S(S > 0), t;t ✓"R 

Jt.*,~-~~~*~ttztttt~~A1i 0 

T={(x,y, z)ElR.3 :0sxs2, 0sys2-x, Oszs2-x-y}. 

tftt Jf. iJ:!:. mJ iiJ ft T WJ tttt 0 

10. (7%) tt Jf. r f 1J Jltt~ : 

lydx+xdy. 

Jt. "47 C :Jb!Jf,:,1; (1, 0) ~J,i; (0, 1) WJfJA~ 0 


